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1. A flat surface with one end higher than the other is

(A) Flag pole (B) Inclined plane
(C) Long rod (D) Wheel
BE |ue | s ww BR g 0 Gar 8, - el |
(A) EoEE (B) &alr+ (C) &y €9 (D) yfgyr
-.f_t'lk{,---_:y:t:")ic,(_./wi/.{' u/'(‘://'/'\:‘l/
= (D) %3544 (C) 6z (1B) 14504 (A)
@ Work = Distance
(A) Force (B) me 4 (C) Weight (D) Mass
SR} o= v prer I e S X §X
(A) 51 (B) \49Y (C) MR (D) =71
e X‘v’/
=4 (D) (e =3 (B) = (A)
3. The smallest microorganisms is
(A) Bacteria (B) Virus (©) gi (D) Protozoa
Y gew o9 & —— FEd & | ;
(A) sFARAT (B) @razs (©) Vé/ (D) wrersiar
1u.";’i/ ----- /8?17'2—){4—-./

l:/':’).‘ (D) \}AC) J;l: (B) _L.[’.C (A)

4. While orbiting the earth in spaceships, weightlessness is experienced

due to 5

(A) Inertia (B) Acc/ele(

(C) Centre of gravity (D) Gravit nal force being zero
siaRer T 3 gedt @ aRer # F B ——— B HRT B B

(VARSES (B) @Rvr : 3

(C) THd % (D) T PV qcl Y B D DRV

..q_J)f;.‘nJ.:_-JJu))diu)LLﬂ/g)/rL‘ﬂJu:JLg3!)5
_%//63) % (A)
p¥ed S P (D) P ©
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5. Which of these micro organisms does ngtg‘w plants?

(A) Protozoa (B) Fu
(C) Bacteria (D) Virus
fFrfoRed % & ai @ gem B¥Al BT JHA T ggATar?
(A) WS (B) %1 (C) FaiRar (D) Tz
/ vrg':w.’ 4 u:"; Lefe s JP:/'J_ 5tss
J /(D) L 25 (C) d¢ (B) widsy (A)

@ Iron nail that sinks in water will float in heavier liquids like _
(A) Alcohol (B) rcury (C) Kerosene (D) Oil

TP AR B B I F 9 A E 99 a8 ——— O avet F dvdt 2
(A) rcTdIES (B) /tr\v (C) = (D) dat

-‘cgiuﬁu}f/u'/léém-&:eéky:ﬁdégﬁff‘a"-—f’
L (D) BOA®) 24 (B) SA (A

7. The density of sea water is than that of fresh water.
(A) Greater (B)

(C) 5 times greater (D) B times less
HGE @ UM BT e S I B Fprast § ——— BT 2

5% ==
i T (D) df= AT &H : :

S P Y Ty (111 Wy

A%y (D) w1 30%), (C) ) st (A)
8. Which one of these is a fiber?
(A) &m}r; (B) Jute (C) Linen (D) All of these
H W B e #
(A) (B) @+ (C) & (D) w+ft
‘ \PRCYOTEE ISP
9. Which ofthese is not grown from seeds?
' (A) Marigo (B) Brinjal (C) Rose (D) Guava
4
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SSF JAMIA MILLIAISLAMIA
T Q ﬁyﬁm X T8 i S .

il g B ¥ (o) o (D) e
el fi = Bofe Lo
5.1 (D) —(C) o= (B) AT (A
10. Which one of the following is a non renewable resource?
(A) Fossil fuels (B) Water
(C) Forests (D) Soils
FrafeifRaa & o o IR e {7
A) e §o91 () gy (C) awr (D) facd
9"&.1::4_5_4;:&5(';'[“_ u’:‘._z_‘._wl-‘
¢ = (0) & ®) &S (A)
11. The man who landed first on the moon was
(A) Yuri Gagarin (B) Neil Armstrong
(C) Rakesh Sharma (D) Michael Collins
ASH U U AT G RS @i &
(A) T8 T (B) N st
(C) raver gt (D) #rgwa Pifeig
:‘LJ?WJ!J";%:;?‘{I&

W) : VAL (©) L1 7K (B) AT (A)

12. Days and nights are caused by the

(A) Revolution of the earth (B)‘Rotation of the earth
(C) Revolution of the sun

(D) Rotation of the sun
f& iR T B9 @ oy & 0 o
(A) gt &1 uRepw= (B) Ea)
(C) 94 &1 uRewe (D) & &7 eois
W=l
<l PAT ) (B) S Lef s
«l6£Zt.r (D) eHf et ln©

13. Which of the following converts mechanical energy into electrical

energy?
(A) Dynamo (B) Battery (g)/Ct/ (D) Bulb
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refafed ¥ @ @ aifye suit @ fea It § uRaffd o &?
(A) STETH (B) 9 (C) A« (D) dcd

?‘LJ/(/V/J,_A;u:ét’!;ézfdtl;f‘_ﬂu{c—u:ijg/ﬂ
-+ (D) 950 (®) Sz B) »15 (A)

14. As you move from the outer layers of the Earth to the inner layers,
the temperature .
(A) Decreases
(B) Increases
(C) Stay the same
(D) Increase or decrease depends on the level

SSF JAMIA MILLIA ISLAMIA

mmq&ﬁﬁmﬁmﬁmﬁwaﬁaﬂvmﬁ%a’rw

(A) Tear @ (B) @&l ®
(C) ¥919 T&dT & (D) ST 3R HeAT Jad W IAERa g 8
.-.-—/l].p:?wl_lgJ}’J..:q};;ﬂcagd;l, J&)_’,l’_g
by (B) eed W
e S¥ =y (D) - LULE (©)
The major cause of tide is
"(A) Large fish (B) The moon's gravity
(C) Ocean plane (D) The Sun’s gravity
TR HTET T HROT &
(A) 71 7o (B) 9EHT &1 THcdYD A
(C) AR &1 ad (D) T &1 [HATPED qef
‘L.g)d‘/"!sz [y
P @) Ko, @
P (D) e (©
If a child is ill, you would need to con
A) Optician gultg

(B) Nephrologist

(C) Botanist (D) Pediatrician
e B T2 dHR B A MY ——— N WY
(A) AT (B) #?ﬁﬁ?;tﬁrw
(C) arcfiwe (D) YSaréiRa
6
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YLQA/PL _______ 77;}7/@,5(5[

<24y 2 (B) f‘%v‘"/'/ﬂ- (A)
JU«MJ"I/',;L (D) =Ll (C)
17. Who discovered Penicillin?
(A) Einstein (B) Isaac Newton
(C)Galileo (D)Alexander Fleming
Ueiveler @1 sifdep faresy frar?
(A) angeerds (B) 3ngsid =ge=
(C) '”vi”?ﬂL (D) arerrarey Ferfer
St
Leb 3 A(D) 2 (© FLSZT (B) JET (A)
18. How much % of oxygen is there in the air?
(A) 78% (B) 21% (C) 1% (D) 12%
ary # aaorT @ wrEr fra 27
(A) 78% (B) 21% (C) 1% (D) 12%
?‘Lyd‘?zli/d/ﬁ/ﬂﬁln
12% (D) 1% (C) 21% (B) 78% (A)
19. If you cool a gas, it may into a liquid:
(A) condense (B) evaporate (C) freeze (D) melt
afE ey Au FY Ser B O g8 ava B wy
(A) B¢ HU eRT B & (B) arftqe & ey @
(C) o™ ey & (D) fager S &
- “:J, Hl( = -4'/"
' A MILLIA ISLAMIA S S
SSF IAMIAMILL, S/ rt (B) Seend s (A
Szt (D) §2f (©
e part of an atom with a negative electrical charge is the:
- (A) Electron (B) Proton
(C) Neutron (D) Atomic nucleus
7
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frefy sy @t oners g smr aren s wEenar &
(A) FATR (B) wer :
(©) =g (D) TRy e

:+rlk/JUl;/yd~4J>K/£u/
/7642 (D) (e Wiy (B) w Al (A)

21. If we divide the sum of 45 and 90 by their difference, the answer is
(A) Neither prime nor composite (B) The least prime number
(C) The least odd Prime number (D)The least composite number

uﬂﬁ4swgoa§uﬁ$ﬁzﬁmwﬁﬁmﬁmaﬁa‘rwaﬁm

(A) 7 @ 3piou T & wya (B) RE7cH 319y e
(C) ~ge fws aproy e (D) =gAaw e He@n

Enct2I g S < G L G0 L£90.545.))
M mLuaisaMIA (SRR e o4
e w77 f) (D) s 0ber 7 P (©)

22.] am a prime number. If you subtract 1 from me, [ will become
divisible by 9. Who am I?

(A) 29 (B) 19 (€)17 (D) 11
#wmméluﬁﬁﬁ%wmﬁa}ﬁgﬁﬁmﬁmimﬁaﬁaéj
(A) 29 (B) 19 (C) 17 (D) 11
?unwfuf-b'uflgn(:} <9Il ufu?l;uﬁaf_{l'fl-un)x:/".{lu:
11 (D) 17 (©) 19 (B) 29 (A)
23. HCF of 90, 96, and 10 is
(A) 2 (B)6 (©)10 (D)1
90, 96 74 10 %1 HCF 8.
(A) 2 (B) 6 (€) 10 (D) 1
~E5 HCF & 10 . 90,96
1 (D) 10 (O 6 (B) 2 (A

24. Compare % [:] E

(A) = (B) >
(C) < (D) None of these
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qor »l': [ "

(A) » (B) >
(C) < (D) g9 4 318 ¢
9 2 -
' 1—] B ; q/—r/')’
S et (D) < (C) > (B) = (A)
25. The largest prime number between 1 and 100 is
(A) 89 (B) 97 (C) 99 (D) 93
1 ud 100 @ 4y WAy g6 oy Hegr B
(A) 89 (B) 97 (C) 99 (D) 93
w3 e 5100 s 1
93 (D) 99 (C) 97 (B) 89 (A)
26. Which among the following are twin prime numbers?
(A) 31 and 37 (B) 7and 11
(C) 11 and 13 (D) 3and 7
fFr=ifafaa % @ @19 gzar smrog e 2|
(A) 31 U4 37 (B) 7 7d 11
(C) 11 U4 13 (D) 317g 7
¢ . . 3> L
‘ {A MILLIA ISLAMIA D
sSF 1AM Delbi 11 4 7(B) 37 s 31 (A)
7 » 3 (D) 13701 Y (C)
27. A 4 with all sides of different length is called
(A) A scalene A (B) An isosceles A
(C) An equilateral A (D) A right angled A
tar o foraad @iy ot fafee evard & B € —— weamEr &)
(A) fammarg Pras (B) wdarg By
(C) wrag Pyt (D) HHET fErgo
-q..ﬂlf .-...--.-wL:r&Jl,J._iﬁfé(f-— L el
RISl (B) Cuopi e ls (A)
ANiG el (D) Lusuigssets (C)
9
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28.A s used for measuring angles,

(A) Protractor (1) Compass (C) Divider (D) Rausler
fely avor @y wrery & forg— a1 v v o &
(A) il (13) treanre (C) fartronm (13) v
el N vy LS St
/“ “ J) (hz{f't’)((?:-ﬂ ((®)] /(/’ (§3) fl{ (A)

29. An tsosceles triangle
(A) 18 a triangle whose two sides and two angles are ejisal
(B) Is a triangle whose all the three sides and three angles are ezl
(C) Is a triangle whose all the three sides and angles measure different
(D) Is a triangle with two acute angles,

Ay P

(A) e Prqor gverr & forerafy < sontf vd & wvor oy B #

(B) Qur Prgor gverr & ey dvif sgont! gd @it wvor wmrr g #
(C) Qur Brqor averr & forerady dvif sqont! vd dreit wvor e gy #
(D) Qar Brgor gvar & foraa &) wyor s wyor gy #

........ PUiNI et
MLt S s i3 usl 82 35 L S Gin&idy (A)

; A i b 5
LA b IS 1022 U2 L S £ M s (B)
ey MLt 4 I Y LS ey (C)
sty 1o S &MY (D)

30. The simplest form of 1.5 : 2.5 is:

(A) 6: 10 (B) 185; 25
(C) 0.75: 1.25 D)3 : 5
1.6 ¢ 26 W1 UL G
(A) 6: 10 () 15: 25
(C) 0.75: 1.256 D) 3:5
SnPoy 151525
35 (D) 0.75:1.25 () 1525 (13) 6:10 (A)
10
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31. Of the following cases, construction of which A is not possible?

(A)7cm, 7cm, 13cm (B)10cm, 10em, 20c¢m
(C)5cm, 12¢m, 14cem (D)3em, 6em, 7cm
Fr=feiRaa aRRef & fsa Brger @ wvasr g =8 87
(A) 7cm, 7cm, 13cm (B) 10cm, 10cm, 20cm
(C) 5¢m, 12cm, l14cm (D) 3cm, 6cm, 7em
‘.'.:;.JUO(_‘A&)J:@‘JW‘/J:,UVJL.VU'/
10cm, 10cm, 20cm (B) 7cm, 7em, 13cem (A)
3cm, 6ecm, 7em (D) 5cm, 12cm, 14cm (C)

32.The needle of a needle clock at 3.10 form

(A) An acute angle (B) An obtuse angle
(C) A right angle (D) A straight line
310 R & f g v & ggAt a9 21
(A) =g BT (B) 3 oy
(C) |HHIT (D) et v
e Bedr S840 S5, 3.10
£ 15 (D) 46415 (C) 2/ 35 (B) oloosli (A)
33.An arc is
(A) Any part of the radius (B) Any part of the diameter
(C) Any part of cord (D) Any part of the circumference
a9 FEd &
(Aa) Broar & fa=h +ff 9T @t (B) @ & fa it wmT &7
(C) Sfrar & &< i AT & (D) uRfr & faeft it w7 &
-u?
'SSF JAMIA MILLIAISLAMIA fefLy B fefTLpus W
i J2f L (D) f2 5L ©

34.Two angles are called adjacent angles if
(A) They have the same vertex
(B) They have equal measures
(C) They lie in two separate figures
(D) They have different vertices

11
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e ———

21 it @Y S B a:a # of o
EIC\)) ?g gﬂﬁﬁwﬁ?ﬂv 11 ﬁzTa ‘Eﬁ ([), W;ﬁ f’v’l’! f’],'-'r,: f‘q;;f ?ﬂ

INBEL NSH) yit3824 4y,

ssnmm MILLIA ISLAMIA ,,uU.’«f/b S (B UnMEULBL o (A)
sl un 8L (D) Ul LI ,n (C)
7cm, is
35.The diameter of a circle whose radius is P
(A) 21cm (B) 44cm (C) 3.5cm (D) 14cm
1% g e Bisgr 7 cm & SH@T AE 2L

(A) 21cm (B) 44cm (C) 3.5cm (D) 14cm
Kn 6 1e T cm Bk 2l s
14 cm (D) 3.5cm (C) 44 cm (B) 21 cm (A)

36.The least multiple which is common for both 15 and 25 is

(A)75 (B)25 (C)50 (D)15
a9 9gUe W 15 3R 25 § 9EE & af &
(A) 75 (B) 25 (C) s0 (D) 15
S S d L 25,4152 1 Festsins
15 (D) 50 (O 25@B) 75 (A
37.1x2x3%x4x5x6 =
(4) 720 (B) 21 (C) 600 (D) 300
38.The largest 9 digit number ending wi i
(A)77.77,77,777 Wlth(;)’lso e
(C) 10,00,09.007 (D) lo’m' 00' %7
9 3T B AfFaH = oy 7 gx s B 2
(A) 77.77,77,777 B)
(C) 10,00,09,007 10.00.00.007

(D) 10.00,00,907
sty e Ay s 9UL'L—J“? <7

10,00,00,007 (B) 77,77,77,7771 W
10,00,09,907 (D) 10,00,09.007 ©
12
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39.The digit immediate to the right of ten lakhs shows place.
(A) Crore (B) Ten crore (C) Ten thousand (D) Lakh
TH oG & RO IMW aq1eT 3P — D ©IF B gl dear &
A) T8 (B) &6 RIS
(C) 9 &R (D) =g
-‘grf;u;/,fwzi ..... s LIS SV s
£ (D) Axgs (©) 1/Us(B) 5 (A

40% subtracted from % is

(A) i—z (B) g (©) % D) %
Eﬁsfimm@“?j .............. s . -
@ (B) 5 © = ©) 2

S TR D ;—; S g

= (D s © 2 ® % ()

41.Mixed fraction for g is

W3 (B)3 2 ©32 (D) 3%
= 71 P frsr g
@35 B) 3 5 ©33 (D) 3%
En i S 2
32 (D) 3= (© 32@®) 3= W

42.Co prime numbers are numbers whose common factor is

(A)1 (B)2 (C)0 (D)Their product
WE IS F&Y a8 W] & et amfRe que ——— g @)
(A) 1 (B) 2 (C)o (D) ST TUHH
-c"_t'n-.-..d/";z i }}'b’gf Ul klessl el Co prime
— S ¥ (D) 0 © 2(B) 1 (A)
13
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an CP, there is

f the SP is less th
43.11 the (B) No profit, No loss

(A) A profit

(C) A gain (D) A loss

aft R Teu, Y el W DA g

(A)Waﬁgg (B) 9 @ o™ & 1 & =y
(C) &m™ (D) =1fy

?n(c_/:/'.;,é‘;,s,)_:_;_)

ssnmumu.lA.lsumA i 2O (B) i
& " g ©

44.0ver head charges is added to

(A)SP (B) CP (C)Profit (D) Loss
S0 TR B ——— A el Il 8
(A) fama qoa (B) #a A (C) o™ (D) =1f¥
P RIT 10 SR T
o (D) e (© 17 =2 (B) =3sed (A)
45.Profit =
(A) CP - SP (B) SP — CP (C) CP + SP (D)
=0 CP
(A) 73 9 — fasha goa B) fasma -
(C) 73 73 + fawpa 7= tD))ﬁm&Fuﬂ i
$ha HA
=iy jed—sied (B) sied—csped (A
=55 D) e e
sl

46.Th
atreng)s(;:l'cl:?eta t%io(ilfgg)?\}agg rl(zi's precipitation, which is lost t© the
ration, approxim :
2 at :
(A) 57% (B) 7% ©37% tO(D) 43%

faza &1 Ha aiRyr &1 TTHT :
ST &7 4 CEui e ——— R

(A) 57%

14
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(B3) Fluorosis

(A) Dental carvies in children
3 “)) M‘."'“‘“")gl()")i”(fmia

(C) Polymyelitis
HoO A wards wasmer ufl 1.6 mg/L ¥ iffrw 81 S o fory 7 o gy o

W /9 g
A) weE) N afe o e (B) wefemifire
(A . (D) #ererrandhifear

(©) urehw R
Vo SNL LMV Tiboy e 1.5 mg/1 Si2H,0

'SSF JAMIA MILLIAISLAMIA TR S Loznrug
sSFIAM L o Dalbi LedFree (D) A

52. Forest and wild life are
(A) Renewable resource (B) Non-renewable resources

(C) Inexhaustible resources (D) None of these

o1 3R g1 woht &
(A) RN FEEE (B) 3=t GHEEH

(C) T3 wEEH (D) 3779 A I &
: :w/}gﬁm‘}"e
S5 SEE (B) ‘ Cuisd s (A
S = Lo (D) Cslninz? (©

53.Nitrogen constitutes about 78% of the atmosphere
(A) By weight (B) By mass
(C) By volume (D) None of these

@ &9 F IR § Ageer 78% ¥
QT (B) #r=T (C) amae= (D) T ¥ B &
! e (378 P B AFIL
g ) F © el B i (A)

54.The Wildlife (Protection) Act was enacted in th :
e year:
(A) 1986 (B) 1974 (C) 1994 . (D) 1972

qUr—HTft (Rem) SR e af o gar?
(A) 1986 (B) 1974 (C) 1994 o e ‘
S uiﬁ'bfﬁiféu»itgup'

1972(D) 1994 (C)e 1974 (B) 1986 (A)

[

16
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59.Social, economical and ecological equity is the necessary condition
for achieving

(A) Social development (B) Economical development
(C) Sustainable development (D) Ecological development
——— W &N @ o1 e, snfefe v watavvr-fagys warar srgeae od 2
(A) Wi R (B) anffas faepre

(C) Wil Hamw=t & wveror @1 A (D) yufawv—wided famra

;..Ja/‘du;".;.l)l/(}}('itul‘j"b‘tquf_ LL/J‘V---_
ssnmm MILLIA ISLAMIA 376 b+ (B) 873 (A)
Ney Dell 370074 (D) § 8 LS sdis (©

60.The maximum number of individuals that can be supported by a
given environment is called

(A) Biotic potential (B) Carrying capacity
(C) Environmental resistance (D) Population size
fe Ry amamarer 3§ feik afaeal @ wer——— pEerd 2
(A) 5% s (B) @&« &pyern
(C) vfaRvr wfeRy (D) ST sirep
7L A ie s ) Sap 2 g o s
=2l i (B) =2t (A)
A¥SAT (D) =2 70U2, (C)
61.Underground and open cast is the methods of:
_ (A) Agriculture (B) Mining
(C) Housing (D) Transportation
L3 T 3R ST GEE — B WP &
(A) oM (B) @+ (C) wa oy (D) uRaes
(0.2 ‘C--~~-8‘-J‘54:|AIJ»U:J
Jist . (D) =12 (C) Ju¥ (B)

=13 (A)

62. Gandhiji went on Dandi March Yatra from
(A) Dandi seashore to Ahmadabad
(B) Ahmedabad to Dandi seashore
(C) Hyderabad to Dandi seashore
(D) Dandi seashore to Hyderabad

18
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e SSF JAMIA MILLIA ISLAMIA
- A S T e o it
F (A) STS! WHE—TT ¥ EFeEE 9% —
E C) TRETE W (B) sr@qg@g 4 |6l 94z dc 9%
(©) S WY 7@ T (D) Sié W98 o 4 AeHAIAIE
& Ty IRy ]
..6»‘&»&6,115:.:\,71: (B) AT s S LS55 (A)
Frlec e FLLym (D) o L LM AT (©)
63. The highest peak of India is located in which state?
(A) Jammu & Kashmir (B) Sikkim
3 (C) Arunachal Pradesh (D) Uttarkhand
HRA D S=aH TER! A1) b www F fReg 27
b (A) 57 9 FER (B) fafew=
- (C) I®TT=S TS (D) STRIEvS
: e Chttns| J::dﬂ(,cf;s'c-/«f O
2471 (D) FagSitsa (©) F® AUz (A
64.How many spokes are there in the wheel of the National Flag of India?
A 24 (B) 34 (C) 42 (D) 20
AR D IS &S | fHa- difedr 87
(A) 24 (B) 34 (C) 42 (D) 20
spuwd Lo ir T Lo
20 (D) 42 (O 34 (B) 24 (AN

65. Which product is not petroleum?
(A) LPG (B) Rubber (C) Wax (D) Plastic

frfeag 3§ @ @19 Ueifergs S9IG T8l 27

. Awmaw B (©) = (BlEsniem
i 9+J1liiﬁﬁ)ﬁufc—tﬁ(j.5?’p
—£4(D) A (®) <+ (B) Gt (W

66. Where is Nehru Institute of Mountaineering?

, (A) Agartalla (B) Uttarkashi (C) Dehradun (D) Gangtok
| Ew ey A miedaRt ot fem 27
(B) srREenr  (B) ST B (C) 2B (D) e

19
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S Culf b ENST Lt E 1y
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67. In which region of India bundhis are used for water harvesting?
(A) Rajasthan
(B) Maharashtra and Uttar Pradesh
(C) Madhya Pradesh and Bihar
(D) Uttar Pradesh and Madhya Pradesh
ARd @ &9 &5 § gl s w7 @ forg @l &1 ganr A s 27
(A) ISR (B) FERTE Ud IOX U9
(C) #=uew @ faER (D) STRURE

S MU S e Lo SEGEES Lerin

: o g2 Pty (B) 2L (A
SSF ,AM|A M“lsu J-';{,/"I (D) A'/.ulﬁ;/,,,’,a (@)

68. Amirata Devi Bishnoi sacrified her life to the protection of

(A) Sal trees (B) Pine trees
(C) khejri trees (D) Alpine meadows
FERar <41 Qwig 7 fFae = oxd §Y Ul 9 g a €17
(A) ¥ B s (B) ds & Us
(C) &l & U (D) U & U @ G
s Be el S =80 S P8 1
7Lz (B) B (A
Jlis’/é:g-j,gl (D) - &/)Ld/f:[ «©
69. Which among the following is a sedimentary type of cycle?
, (A) Sulphur cycle (B) Nitrogen cycle
(C) Oxygen cycle (D) Carbon cycle
i frfofiaa 4 4 @19 aa9d) ©U &1 95 87
(A) BB TF (B) TggIeH @
(C) snadia ab (D) ®1d wsh
E ?q_J))Ui,G?.i?ufc.gﬂdi.?J#
*‘ ###(D) #EFET(C) 5K £ (B) i (A
|
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70.
E:le _Forest (Conservation) Act extends to the whole of India except:
(C) Uttar Pardesh (B) Karnataka
) Jammu and Kashmir (D) Haryana
Z—:F:‘?:‘%—‘—%W‘?qu?l
A) ST W< (B) Fiie® (C) v wd FwR (D) ERAT
-< Ugﬁul'/:k(_/,;‘a.lré---_ uiﬁ'bj?::,lf/‘
s (D) ~ 0 () /S (B) g (A)

Passage:

Bees are insects. Bees are special insects because they can fly!
They can move through the air like an airplane! Bees can fly
because they have wings. They use their wings to fly. Bees can fly
fast. Bees can also fly slowly. They can fly up and they can fly
down. They need to fly to get to the flowers! Bees can have three
colors. They can be yellow, red, and orange. All bees are black in
some places. Bees have three main parts. They have a head. They
have a body. And, they have a stinger. The stinger is used to
defend against enemies. They also have six legs. They use their
legs to stand and climb. They also use their legs to eat and collect
pollen. Bees live in many places. They live in Africa, Australia,
Asia, Europe., North America, and South America. The only
continent that bees do not live on is Antarctica! I understand
why they don't live in Antarctica. It's too cold! Most of the time,
bees are nice to humans. If you do not bother them, they will not
bother you. Have fun watching the bees this summer!

Answer the following questions:-

@ What are bees?
(A)Mammals (B) Birds (C) Reptiles (D) Insects
@iow do bees fly?
(AJThey use their legs. (B) They use their head.
(C)They use their wings. (D) None of the above.
7 many legs do bees have?
(AyTwo (B) Four (C) Six (D) Eight
74 t is the stinger used for?
) To eat food. (B) To defend against enemies.
) Both A and B. (D) None of the above.
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Scanned with CamScanner

R




[

75. Where do bees live?
(A) North America (B) Asia
(C) Antarctica (D) Both A and B

76. The sentence with correct capitalization is
(A) I study English on Monday and Tuesday.
(B) I study english on monday and tuesday.
(C) I study English on monday and tuesday.
(D) I study english on Monday and Tuesday.

77. The big has brown colour
(A) Bere (B) Bare (C) Bear (D) Beir

78. The sentence with correct punctuation is
(A) Ahmed bought eggs and bread, butter and sugar.
(B) Ahmed bought eggs, bread, butter and sugar.
(C) Ahmed bought eggs and bread, butter, sugar.
(D) Ahmed bought eggs, bread and butter and sugar.

79. The adjective of the noun “mischief” is
(A) Mischiefs (B) mischievousness
(C) Mischievously (D) mischievous

80. The sentence with correct structure is
(A) Maryam takes her lessons weekly. - A
(B) Maryam her takes lessons weekly. SSF JAMIA M“_uAJSLAM‘
(C) Maryam takes lessons her weekly. L
(D) Maryam takes lessons weekly her.

81. In which word is the sound of “k” silent?

(A) King (B) Know (C) Kite (D) Key
82. Shazia was the story book which I last week.
(A) Read, buying (B) Reading, buying
(C) Reading, bought (D) Read, bought
83. When you need permission to enter the class, you ask your
teacher
(A) Come in. (B) Should I come in?
(C) May I come in? (D) Yes, come in.
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93. Choose the correct option.

Shedsiins 0 a singer & & dGiva dancer.
(A) Either....... or (B) Neither....... nor
(C) Whether....... or (D) Both (A) and (B)

94. | saw a computer in a shop. Computer was too good.
(A) A (B) An (C) The (D) None of
these

95. Asia is largest continent in the world.

(A) The (B) An (C) Or (D) A

96. The weight of brain is about ____

(A) % kilogram (B) 1 %2 kilograms
(C) 1 kilogram (D) 2 kilograms
AT &1 a9 T ——— BT '

(A) Y% foar am (B) 1 % fddmm

(C) 1 fFamm™ (D) 2 fharum™

‘LVK-____.L_ }; (OP1} ((',L)

i (/¥ 2(D) A1 ©

97. The big brain is called

(A) Cerebellum (B) Cerebrum
(C) Medulla (D) Spinal Cord
g1 AT ——— FEdmET 2|
(A) femmT 31 fUwar s (B) f&HRT @1 31el WRT
(C) Re—mwa (D) 3 @ TS
T S 7
= 5t (B) Ukl (A)
$idezs (D) i (O
98. A fishingrodisa ___ kind of lever. ‘
@A) 1 (B) 1I (C) 11 D) IV
FH —— UDR BT AR & 1
A) 1 (B) 11 (C) III (D) IV
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99. The weight of an object in water is called
(A) Actual weight

(B) Apparent weight
(C) False weight

(D) True weight

u o e awg @ au B ——— wEa ¥
(A) araf® agr (B) amrfl qGr
(C) g au (D) wrIfdres s
(2L S L& R
W6 (B) und’s (A)
Wi (D) il (O

100. found out that the up thrust is always equal to the

weight of the water displaced.

(A) Isaac Newton (B) Archimedes :
(C) Graham Bell (D) Albert Einstein
- Y 7E @e @ 5 SuTe P a9 §eTU MY g @ ag @ avEe g @
(A) MNP e (B) arreafRer
(C) wrew It (D) arcae g
_.»l;_rx/,u_Lu;;ﬁdgiz_tﬂjw,ﬂfb:ﬂa; ......
J44T(B) JLLIT (A
e (D) FAaS (©
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